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nº 3) b: 73 ‒ (‒3)4 = 73 ‒ (81) = 343 73 ‒ 81  = 262

nº4) h2 = a2 + b2 // h2 = 32 + 42 = 9 + 16 = 25 // h = √25 // h = 5 cm

nº5)  h2 = a2 + b2 //  52 = a2 + 42 //  a2 = 52 - 42 = 25 - 16 = 9 //   a = √9 // a = 3

nº6) Al ser isósceles, los dos catetos son iguales.  h2 = a2 + a2 // (√2 )2= 2  a2 //  a2 =  
[image: image1.emf]( √ 2 )

2
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// 


a2= 
[image: image2.emf]2
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= 1 // a=√1 = 1 // a=1 
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nº1) a: 9; b: 2.401; c:81; d: -125; e: 16'6497; f: 
[image: image3.emf]3.125

32.768

; g: 326'2539; h: -
[image: image4.emf]1

27

; 


i: 1.768.251.942'210835

nº2) (-0'8)3 < (-0'8)4 < (-0'8)2   // (-0'8)3 = -0'512; (-0'8)4 = 0'4096; (-0'8)2 = 0'64

nº3) a: 36 ; b:  
[image: image5.emf](
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nº68) b: 
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nº83) 10 bombones.
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